Math 2150-02 5/5/25

Ex: Solve  $y'' + 4y = 5e^{-x}$ y(0)=2, y'(0)=3 Using the Laplace transform Suppose the Laplace transform exists for the initial value problem above. Apply 2 to the above equation.  $\mathcal{L}[y''+4y] = \mathcal{L}[5e^{\times}]$  $\int \chi[y''] + 4\chi[y] = 5\chi[e^{-x}]$  $\left(\text{using } \mathcal{L}[c_1f+c_2g] = c_1\mathcal{L}[f]+c_2\mathcal{L}[g]\right)$ 

We get:  

$$(t^{2} \chi[y] - t_{y}(o) - y'(o)) + 4\chi[y]$$
  
 $= 5\chi[e^{\chi}]$ 

Since 
$$y(0) = Z$$
,  $y'(0) = 3$  we get  
 $t^{2}\mathcal{X}[y] - Zt - 3 + 4\mathcal{X}[y] = 5\mathcal{X}[e^{x}]$   
Since  $\mathcal{X}[e^{-x}] = \frac{1}{t+1}$  we get  
 $(t^{2}+4)\mathcal{X}[y] - 2t - 3 = 5(\frac{1}{t+1})$   
Thus,  
 $\mathcal{X}[y] = \frac{1}{(t^{2}+4)}\left[\frac{5}{t+1} + 2t + 3\right]$ 

 $\mathcal{C}(y) = \frac{5}{(t+1)(t^2+4)} + 2\left(\frac{t}{t^2+4}\right) + 3\left(\frac{1}{t^2+4}\right)$ So,

Need to do partial fractions  $\frac{5}{(t+1)(t^2+4)}$ on the term  $\frac{5}{(t+1)(t^{2}+4)} = \frac{At+B}{t^{2}+4} + \frac{C}{t+1}$  $5 = (At+B)(t+1) + c(t^{2}+4) + c(t^{2}+4)$ t = -1; 5 = 0 + c(5) + c = 1 $t=0: 5 = (B)(1) + (1)(4) \neq B=1$ 5 = (A+I)(2) + (I)(5) + (A=-I)A+B 大=1:,

$$\int_{0}^{5} \frac{5}{(t+1)(t^{2}+4)} = \frac{-t+1}{t^{2}+4} + \frac{1}{t+1}$$

Thus,  

$$\mathcal{Z}[Y] = \frac{5}{(t^{2} + 4)(t + 1)} + 2\left(\frac{t}{t^{2} + 4}\right) + 3\left(\frac{1}{t^{2} + 4}\right)$$

$$\mathcal{Z}[Y] = \left(\frac{-t}{t^{2} + 4} + \frac{1}{t^{2} + 4} + \frac{1}{t^{2} + 4}\right) + 2\left(\frac{t}{t^{2} + 4}\right)$$

$$\mathcal{Z}[Y] = \left(\frac{-t}{t^{2} + 4} + \frac{1}{t^{2} + 4}\right) + 2\left(\frac{t}{t^{2} + 4}\right)$$

$$\mathcal{Z}[Y] = \frac{t}{t^{2} + 4} + 2\left(\frac{2}{t^{2} + 4}\right) + \frac{1}{t^{2} + 4}$$

$$\mathcal{Z}[Y] = \frac{t}{t^{2} + 4} + 2\left(\frac{2}{t^{2} + 4}\right) + \frac{1}{t^{2} + 4}$$

$$\mathcal{Z}[Y] = \frac{t}{t^{2} + 4} + 2\left(\frac{2}{t^{2} + 4}\right) + \frac{1}{t^{2} + 4}$$

$$\mathcal{Z}[Y] = \frac{t}{t^{2} + 4} + 2\left(\frac{2}{t^{2} + 4}\right) + \frac{1}{t^{2} + 4}$$

$$\mathcal{Z}[Y] = \frac{t}{t^{2} + 4} + 2\left(\frac{2}{t^{2} + 4}\right) + \frac{1}{t^{2} + 4}$$

